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QUESTION 1

Which type of backup contains only the blocks that have changed since the last level 0 incremental backup? 

A. a cumulative level 1 backup 

B. a differential level 1 backup 

C. a full backup 

D. a whole backup 

Correct Answer: A 

 

 

QUESTION 2

Within a resource-plan definition, what differentiates a top-level plan from a subplan? 

A. A subplan has the PLAN_SUB parameter value set to SUB. 

B. A top-level plan has the GROUP_OR_PLAN parameter set to the name of the subplan in the resource-plan
definition. 

C. There is no difference in the resource-plan definition. 

D. A subplan always has the CPU_MTH parameter value set to RATIO. 

E. The string TOP_LEVEL is appended to the name of top-level resource plans. 

Correct Answer: C 

 

 

QUESTION 3

If you lost your entire database, including the database spfile, control files, online redo logs, and database datafiles,
what kind of recovery would be required with RMAN? 

A. Complete database recovery. 

B. Incomplete database recovery. 

C. Approximate database recovery. 

D. Archived database recovery. 

E. The database could not be recovered with RMAN. 

Correct Answer: B 
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QUESTION 4

Which statements about the MEMORY_TARGET initialization parameter are true? (Choose all that apply.) 

A. MEMORY_TARGET can be increased up to the value of MEMORY_MAX_TARGET, if MEMORY_MAX_TARGET is
set to a value greater than zero 

B. MEMORY_MAX_TARGET defaults to a value of zero if MEMORY_TARGET is not set 

C. MEMORY_TARGET represents the total amount of memory that can be allocated to SGA and PGA memory
structures. 

D. MEMORY_TARGET is static and cannot be modified without shutting down the instance 

Correct Answer: ABC 

 

 

QUESTION 5

Which of the following parameters defines the location where Oracle should create archived redo logs? 

A. LOG_ARCHIVE_1 

B. LOG_DESTINATION_1 

C. LOG_ARCHIVED_DESTINATION_1 

D. LOG_ARCHIVE_DEST_1 

E. LOG_ARCHIVE_SOURCE_1 

Correct Answer: D 
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